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QUESTION 1

Which option describes the role of the Service Provider when developing OpenSocial applications?
A. an Apache Shindig container

B. a web server that stores OpenSocial

C. a web application that allows access via OAuth

D. a web server that hosts OpenSocial applications

Correct Answer: B

QUESTION 2

IBM Connections supports automatic authorization of trusted clients. What must be performed to register an arbitrary
client?

A. Register the client using basic authentication through an OpenSocial stream.
B. Obtain the client secret and update the opensocial-config.xml with the provided code.
C. Edit the opensocial-config.xml and add the new authorized client within the trusted clients.

D. Register the client using the wsadmin tool and execute OAuthApplicationRegistrationService.addApplication
command with all required parameters.

Correct Answer: A

QUESTION 3

Why would a developer choose to use the gadgets.io.makeRequest over osapi.http.get?
A. The endpoint is non-trusted.

B. The endpoint requires HTTPS.

C. The endpoint requires OAuth support.

D. The endpoint is hosted in a different domain.

Correct Answer: C

QUESTION 4
Which service must an OpenSocial container support?

A. Group
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B. Social
C. People
D. Common

Correct Answer: A

QUESTION 5
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Which two features enable a gadget developer to programmatically address sizing limitations in an IFrame allowing
content to shrink or grow as needed?

A. css

B. views

C. resize

D. dynamic-width
E. dynamic-height

Correct Answer: DE
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